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What will be the number of chromosomes in the gamete of maize if its meiocyte contains

20 chromosomes ?

(1) 10
(2) 20
(3) 24
(4) 40

Options :

212807113181. 1
212807113182.2
212807113183. 3
212807113184. 4




Question Number : 1 Question Id : 21280728296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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(1) 10

(2) 20

(3) 24

(4) 40
Options :

212807113181. 1
212807113182.2
212807113183. 3
212807113184. 4

Question Number : 2 Question Id : 21280728297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following structure is not an example of asexual reproduction ?
(1) Conidia
(2) Buds

(3) Flowers
(4) Gemmules

Options :

212807113185. 1
212807113186. 2
212807113187.3
212807113188. 4

Question Number : 2 Question Id : 21280728297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
e # @ St g afdt g % S T8 T2
(1) =it
(2) HieRTe
(3) 9=
(4) S=EE
Options :

212807113185. 1
212807113186. 2
212807113187.3
212807113188. 4



Question Number : 3 Question Id : 21280728298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which layer of microsporangium nourishes the developing pollen grains ?
(1) Epidermis
(2) Endothecium
(3) Middle layer
(4) Tapetum
Options :
212807113189. 1
212807113190. 2

212807113191. 3
212807113192. 4

Question Number : 3 Question Id : 21280728298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

= o | e & e fufa-ua faerasiict 9T ol s 9o w2
(1) =" &=

(2) siqeiifaad
(3) H= W
(4) <2deH

Options :

212807113189. 1
212807113190. 2
212807113191.3
212807113192. 4

Question Number : 4 Question Id : 21280728299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - T with List - IL

List - I List - II
(A) Albuminous seed ()  Groundnut
(B) Parthenocarpic fruit (I) Apple
(C) Non-albuminous seed (IT) Castor

(D) False fruit (IV) Banana

Choose the correct answer from the options given below :
(1) (A)-D), (B-(IV), (O-(II), (D)-(IT)

(2)  (A)-D, B)-1V), (O-0), (D))

(3) (A1), B)-1), (O-1V), (D)-(IL)

(4)  (A)-IV), (B)-(II), (O)-11), (D)-(0)

Options :

212807113193. 1
212807113194. 2
212807113195.3
212807113196. 4

Question Number : 4 Question Id : 21280728299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1)  (A)-(D), (B)-(IV), (O)-(II), (D)-(II)
(2) (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)
(3)  (A)-(D), (B)-1), (O-IV), (D)-(II)
(4) (A)-IV), (B)-(IID), (O)-(1I), (D)-(I)
Options :

212807113193. 1
212807113194. 2
212807113195.3
212807113196. 4

Question Number : 5 Question Id : 21280728300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The process of transformation of spermatids into spermatozoa is known as :
(1) Spermatogenesis
(2) Spermiogenesis
(3) Spermiation
(4) Spermation
Options :
212807113197. 1
212807113198. 2

212807113199.3
212807113200. 4

Question Number : 5 Question Id : 21280728300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :
212807113197. 1
212807113198.2

212807113199. 3
212807113200. 4

Question Number : 6 Question Id : 21280728301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the following events of human embryo development in a correct sequence :
(A) Blastocyst formation

(B) Implantation

(C) Formation of morula

(D) Cleavage in zygote

Choose the correct answer from the options given below :

(1) (©), D), (B), (A)

(2) (D) (©), (A), (B)
(3) (D) (B) (O), (A)
4) (A (©), D), B)

Options :

212807113201. 1
212807113202. 2
212807113203. 3
212807113204. 4



Question Number : 6 Question Id : 21280728301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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(1) (), (D), (B), (A)

(2)

(4)
Options :
212807113201. 1
212807113202. 2
212807113203. 3
212807113204. 4

Question Number : 7 Question Id : 21280728302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one is not a barrier method for birth control ?
(1) Diaphragms
(2) Cervical caps

(3) Vaults
(4) Intra Uterine Devices (IUDs)
Options :

212807113205. 1
212807113206. 2
212807113207. 3
212807113208. 4

Question Number : 7 Question Id : 21280728302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807113205. 1
212807113206. 2
212807113207. 3
212807113208. 4

Question Number : 8 Question Id : 21280728303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Amniocentesis is used to detect the :

(1) Sexually transmitted diseases

(2) Presence of certain genetic disorders
(3) Causes of infertility

(4) Presence of pneumonia germs

Options :

212807113209. 1
212807113210.2
212807113211.3
212807113212. 4

Question Number : 8 Question Id : 21280728303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807113209. 1
212807113210. 2
212807113211. 3
212807113212. 4

Question Number : 9 Question Id : 21280728304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




What will be the number of genotypes and phenotypes obtained in F, generation when male
parent RRyy is crossed with female parent rrYY ?

(1) 16 and 4 respectively

(2) 4 and 16 respectively

(3) 9 and 4 respectively

(4) 4 and 9 respectively

Options :

212807113213. 1
212807113214.2
212807113215. 3
212807113216. 4

Question Number : 9 Question Id : 21280728304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
T Sk RRyy %l HI&T S rrYY &, Hehi0l i W F, Gl § Sy $iR WAy 6§ 2l shaw:
(1) 16 A4
(2) 43R 16
(3) 934
(4) 439
Options :

212807113213. 1
212807113214.2
212807113215.3
212807113216. 4

Question Number : 10 Question Id : 21280728305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following genetic disorder is not a type of Mendelian disorder ?
(1) Colour blindness

(2) Down's syndrome

(3) Haemophilia

(4) Thalassaemia

Options :

212807113217. 1
212807113218.2
212807113219. 3
212807113220. 4

Question Number : 10 Question Id : 21280728305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807113217. 1
212807113218.2
212807113219. 3
212807113220. 4

Question Number : 11 Question Id : 21280728306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List -1 List - II

A) Human skin colour ()  Multiple allelism
B) Pair of alleles expressing contrasting traits  (II) Polygenic inheritance
C) ABO blood group (

D) Antirrhinum flower colour (IV) Heterozygous

[II) Incomplete dominance

— — — —

Choose the correct answer from the options given below :
(1)  (A)-(ID), (B)-IV), (C)-(D), (D)-(III)

(2) (A)-(1), (B)-(IIT), (C)-(1D), (D)-(IV)
(3)  (A)-(D), (B)-(I), (O)-(1V), (D)-(1IL)
(4) (A)-(1D), (B)-(IV), (O)-(II), (D)-(I)
Options :

212807113221. 1

212807113222.2

212807113223.3
212807113224. 4

Question Number : 11 Question Id : 21280728306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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(1) (A)-1), (B)-1V), (C)-1), (D)-(1T)
(2) (A1), (B)-(II), (O)-(ID), (D)-(IV)
(3)  (A)-(1), B)-(1), (O-V), (D)1
(4)  (A)-(D), (B)-(1V), (O-(1), (D)-(1)
Options :

212807113221. 1
212807113222.2
212807113223.3
212807113224. 4

Question Number : 12 Question Id : 21280728307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The sequence of nitrogen bases of the template strand of DNA in a transcription unit is
3-ATTGAACTG-5". The sequence of nitrogen bases in its mRNA transcript would be :

(1) 3-AUUGAACAG-5

(2) 5-UAACUUGAC-3

(3) 3-CAGUUCAAU-Y

(4) 5-GUUAGUCCA-¥

Options :

212807113225. 1

212807113226. 2

212807113227.3
212807113228. 4

Question Number : 12 Question Id : 21280728307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) 3¥-AUUGAACAG-5

(2) 5-UAACUUGAC-%

(3) 3-CAGUUCAAU-5

(4) 5-GUUAGUCCA-3’



Options :

2128071132251
212807113226.2
212807113227. 3
212807113228. 4

Question Number : 13 Question Id : 21280728308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following nitrogenous base is NOT present in RNA ?
(1) Adenine
(2) Guanine
(3) Cytosine
(4) Thymine
Options :
212807113229. 1
212807113230. 2

212807113231.3
212807113232. 4

Question Number : 13 Question Id : 21280728308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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(1) wsfH

(2) eIt
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(4) owfE

Options :

212807113229. 1
212807113230. 2
212807113231.3
212807113232. 4

Question Number : 14 Question Id : 21280728309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify the regions of the transcription unit.

(A) Promoter

(B) Sigma factor

(C) Terminator

(D) The structural gene

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only

(2)  (A) (B) and (C) only
(3) (A), (C) and (D) only
(4)  (B), (C) and (D) only
Options :

212807113233. 1
212807113234.2
212807113235.3
212807113236. 4

Question Number : 14 Question Id : 21280728309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :
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(2) e (A), (B) ¥R (Q)
(3) 9 (A), (O) 3R (D)
(4) % (B), (C) 3R (D)

Options :

212807113233. 1
212807113234.2
212807113235.3
212807113236. 4

Question Number : 15 Question Id : 21280728310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following is an indicator of industrial pollution ?

(1) Lichens

(2) Mosses

(3) Ferns

(4) Pines
Options :

212807113237. 1
212807113238.2
212807113239.3
212807113240. 4

Question Number : 15 Question Id : 21280728310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807113237. 1
212807113238.2
212807113239. 3
212807113240. 4

Question Number : 16 Question Id : 21280728311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following pairs is not an example of homology ?
(1) Forelimbs of whale and forelimbs of cheetah

(2) Wings of butterfly and wings of bird

(3) Forelimbs of human and forelimbs of whale

(4) Thorn of Bougainvillia and tendril of Cucurbita

Options :

212807113241. 1
212807113242. 2
212807113243.3
212807113244. 4

Question Number : 16 Question Id : 21280728311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807113241. 1
212807113242.2
212807113243.3
212807113244. 4

Question Number : 17 Question Id : 21280728312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following statements are correct with reference to evolution ?
(A) About 500 mya invertabrates were formed.

(B) Jawless fish evolved around 350 mya.

(C) About 400 mya sea weeds existed.

(D) About 100 mya dinosaurs suddenly disappeared.

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

Options :

212807113245. 1
212807113246. 2
212807113247.3
212807113248. 4

Question Number : 17 Question Id : 21280728312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807113245. 1
212807113246. 2
212807113247.3
212807113248. 4

Question Number : 18 Question Id : 21280728313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which is the primary lymphoid organ ?

(1) Thymus

(2) Spleen

(3) Tonsils

(4) Appendix
Options :

212807113249. 1
212807113250. 2
212807113251.3
212807113252. 4

Question Number : 18 Question Id : 21280728313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
= o 9 - wfaes ot 3§ 2
(1) &=HE
(2) e
(3) <ifHa
(4) afsifeen
Options :

212807113249. 1
212807113250. 2



212807113251. 3
212807113252. 4

Question Number : 19 Question Id : 21280728314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following approach is not used for the treatment of cancer ?
(1) Radiation therapy

(2) Immunotherapy

(3) Vaccination

(4) Surgery

Options :

212807113253. 1
212807113254.2
212807113255.3
212807113256. 4

Question Number : 19 Question Id : 21280728314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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(1) Taferro fafema

(2) gfaen fafean

(3) ETehTRLT

(4) e TR
Options :

212807113253. 1
212807113254.2
212807113255. 3
212807113256. 4

Question Number : 20 Question Id : 21280728315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - T with List - IL

List - I List - II
(A) Entamoeba histolytica ()  Filariasis
(B) Wauchereria bancrofti (I) Malaria
(C) Microsporum (III) Amoebiasis

(D) Plasmodium falciparum (IV) Ringworm
Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(I1), (O)-), (D)-(1)

(2) (A1), (B)-(1), (O-IV), (D)-(II)

(3) (A1), B)-AV), ©)-(1), (D))
(4)  (A)-(1D), (B)-(1), (©)-(1), (D)-(IV)
S

212807113258. 2

212807113259.3
212807113260. 4

Question Number : 20 Question Id : 21280728315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

edl-1 & [ Gell-11 1 fierm i

& -1
( (n Ry
(B) FRR et () HeAfen
(C (1) s7etear (wHifaufas)
( (Iv) = (for o)
9 feu 7o foskedi § | TEr 3T 1 997 ST ;

(1)  (A)-AV), (B)-(I1D), (C)-(I), (D)-(I)
(2) (A)-(ID), (B)-(T), (C)-(IV), (D)-(I)
(3)  (A)-(D), (B)-AV), (©)-(D), (D)-(II)
(4) (A)-(1D), (B)-(IT), (O-(I). (D)-(IV)
Options :

212807113257. 1
212807113258. 2
212807113259. 3
212807113260. 4

Question Number : 21 Question Id : 21280728316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The suitable location for keeping the beehives is near the crop of :
(1) Potato
(2) Sugarcane
(3) Brassica
(4) Ginger
Options :
212807113261. 1
212807113262. 2

212807113263.3
212807113264. 4

Question Number : 21 Question Id : 21280728316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Tl e B, HYFHRE % Il ol 1@ F U T e o 9 frd e % a2 ®
(1) e

(2) =

(3) HH

(4) 3t
Options :

212807113261. 1
212807113262. 2
212807113263.3
212807113264. 4

Question Number : 22 Question Id : 21280728317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the steps of ‘Plant Breeding” in a correct sequence.
(A) Selection and testing of superior recombinants.

(B) Cross hybridisation among the selected parents.

(C) Collection of genetic variability.

(D) Evaluation and selection of parents.

Choose the correct answer from the options given below :
(1) (©). (A), (D), (B)

(2) Q. (D), (B). (A)

(3)  (B), (©O), (A4), (D)

4) (D) (&), (B) (O

Options :

212807113265. 1
212807113266. 2
212807113267.3
212807113268. 4



Question Number : 22 Question Id : 21280728317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

‘g1 US| o =X okl HEl A H HafEd i
(A) SR THARTS &1 = a9 Te

(B) =AMd SHehl H i Herol

(C) eArafereh fafirsrat st uhaon

(D) STehi 1 Hegish q9 =3

= feu o fawmedi § 9 HEr ST 1 99 HifaU ;

(M (O, (A), (D), (B)
(2)  (©), D), (B), (A)
(3)  (B), (©), (&), (D)
(4) (D), (A), (B), (O
Options :

212807113265. 1
212807113266. 2
212807113267.3
212807113268. 4

Question Number : 23 Question Id : 21280728318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL
List - I List - II
(A) Wheat ()  Pusa Swarnim
(B) Brassica (I) Pusa Komal
(C) Cauliflower (IIT) Himgiri
(D) Cowpea (IV) Pusa Shubhra

Choose the correct answer from the options given below :
(1) (A1), B)-D), (©O)-AV), (D))
(2) (A )()()(C)-()()()
(3)  (A)-(D)., (B)-(I), (C)-(11), (D)-(IV)
(4) (A)()()( V), (€)-(), (D)-(I)

Options :

212807113269. 1
212807113270. 2
212807113271.3
212807113272. 4

Question Number : 23 Question Id : 21280728318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

-1 % 1 gER-11 1 fem #ifso
a1 I

(A) T (H  gH e
(B) HH () Y81 HHA
(C) Thsdt (1n)  femfaf

(D) itfern (IV) =T T

<y e T Ferenil H § TR S T I HIOAC

(D) (A)-(I), (B)-1), (O)-(IV), (D)-(IN)
(2)  (A)-1V), (B)-(1D), (C)-(UI), (D)-I)
(3)  (A)-(D), (B)-(IIT), (C)-(10), (D)-(IV)
(4)  (A)-(D), B)-1V), (©)-(1), (D)-(1)
Options :

212807113269. 1
212807113270. 2
212807113271.3
212807113272. 4

Question Number : 24 Question Id : 21280728319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Propionibacterium sharmanii is used in making which of the following food item ?
(1) Swiss cheese
(2) Roquefort cheese

(3) Bread
(4) Toddy
Options :

212807113273. 1
212807113274. 2
212807113275.3
212807113276. 4

Question Number : 24 Question Id : 21280728319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

e H & v @ a1 sAR % forn Gifgit seeiRes Ames Sirar) s ST foRan ST § 2
(1) feg o iR

(2) UHFL G
(3) ¥
(4) ZrEl



Options :

212807113273. 1
212807113274.2
212807113275.3
212807113276. 4

Question Number : 25 Question Id : 21280728320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is used as “clot buster” ?
(1) Streptokinase
(2) Cyclosporin-A

(3) Statins
(4) Penicillin
Options :

212807113277. 1
212807113278.2
212807113279.3
212807113280. 4

Question Number : 25 Question Id : 21280728320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

=1 & 4 fopm =1 93 U g9 faopes & w9 foean Siar § 2
(1) e

(2) HEFAEIE-A

(3) wfe=w

(4) Uffafe

Options :

212807113277. 1
212807113278.2
212807113279.3
212807113280. 4

Question Number : 26 Question Id : 21280728321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - T with List - IL

List - I List - II
(A) Aspergillus niger ()  Butyric acid
(B)  Clostridium butylicum (I) Acetic acid
(C)  Saccharomyces cerevisiae (II) Citric acid

(D) Acetobacter aceti (IV) Ethanol
Choose the correct answer from the options given below :
(1) (A1), B)-AV), ©)-1), (D)-(1)

(2) (A1), (B)-(1), (O-1V), (D)-(II)

(3)  (A)-D), (B)-(II), (O)-(ID), (D)-(IV)

(4)  (A)-IV), (B)(ID), (©)-(II), (D)-0)

Options :

212807113281. 1
212807113282.2
212807113283.3
212807113284. 4

Question Number : 26 Question Id : 21280728321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-1 % |1 Yei-11 1 frem i

i1 TEl-11
(A) TERFTCTH TFH (
(B) FAEieTH Sperelsy (
(C) GwmrEfag dfaat (1) fafesw ema
(D) UHiIw=Y THeTs (
9 feu o faskedi H 9 W@ W H 99 FI

(1)  (A)-(I), (B)-(IV), (C)-(D), (D)-(III)
(2) (A)-(ID), (B)-(T), (C)-(IV), (D)-(II)
(3)  (A)-(I), (B)-(III), (C)-(II), (D)-(IV)
(4)  (A)-IV), (B)-(II), (C)-(II), (D)-I)
Options :

212807113281. 1
212807113282. 2
212807113283.3
212807113284. 4

Question Number : 27 Question Id : 21280728322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify the enzyme used for the isolation of genetic material from fungal cells.
(1) Lysozyme

(2) Pepsin

(3) Cellulase

(4) Chitinase

Options :

212807113285. 1
212807113286. 2
212807113287. 3
212807113288. 4

Question Number : 27 Question Id : 21280728322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

ek ISR & STATs qeied o1 JU&RI 3 & faT ST § & SiH are USEH S
(1) wEEeTEY
(2) dfte=

(3) HFAS
(4) hisfest
Options :
212807113285. 1
212807113286. 2

212807113287. 3
212807113288. 4

Question Number : 28 Question Id : 21280728323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following steps of ‘Polymerase Chain Reaction’ in a correct sequence.
(A) Annealing of primers

(B) Amplified DNA

(C) Denaturation of DNA

(D) Extension of primers

Choose the correct answer from the options given below :

(1) (A) (©), B), (D)

(2) (D). (A), (©), (B)
(3) (O, (A), (D), (B)
4) (O, (B). (D), (A)
Options :

212807113289. 1
212807113290. 2
212807113291.3
212807113292. 4



Question Number : 28 Question Id : 21280728323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

refaes sj@e Af4afsran o =1 =2l sl 98l 9 o =afeerd =i
(A) USRI 1 AT

(B) TafYd Sl T T,

(C) &l . U, = Hitrgem

(D) SUsHTHH| ol o

=i feu e fasredi § & W@ 3T 1 FI HIGC ;

(D (A) (©), (B), (D)
(2) (D) (A) (©), (B)
(3)  (©), (A), D), (B)
4) (O, (B), (D), (A)
Options :

212807113289. 1
212807113290. 2
212807113291.3
212807113292. 4

Question Number : 29 Question Id : 21280728324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II

(A) Plasmid of Salmonella ) Join foreign DNA to plasmid
I

(B) Restriction enzymes ) Insertional inactivation

(
(

(C) Ligases (IIT) Construction of 15t recombinant DN A
(

(D) p-galactosidase IV) Molecular scissors

Choose the correct answer from the options given below :
(1) (A1, (B)-(1), (©)-(1), (D)-(IV)
(2)  (A)-(1D), (B)-(1V), (O-(1), (D)-(II)
(3)  (A)-V), (B)-(D), (O-I), (D)-(I)
(4) (A)-(1), (B)-(1D), (©)-IV), (D)-{I)

Options :

212807113293. 1
212807113294. 2
212807113295.3
212807113296. 4

Question Number : 29 Question Id : 21280728324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

-1 % W gER-11 1 fem i
1 TEA-11

(A)  TIHRET & THEE () & EL T T & He § Sied &
(B) ufdsig UsieH (my frae FHiekgar

(C) st (IIT) 9 YERTS 2l T, T, <1 fmio
(D) B-IIRIEESS (IV) aTfoess wde

== feu U fomredi H O W@t 3T 1 999 HINT
(A)-(IT), (B)-(II), (C)-(I), (D)-(IV)
(A)-(I1D), (B)-(IV), (©)-(I), (D)-(II)

3)  (A)-(IV), (B)-(I), (O)~(IIT), (D)~(IT)

(4)  (A)-(II), (B)-(ID), (O)-IV), (D)-(I)
Options :

212807113293. 1

212807113294. 2

212807113295.3
212807113296. 4

Question Number : 30 Question Id : 21280728325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

With reference to the uses of transgenic animals, identify the incorrect statement.
(1) To study disease

(2) To test vaccine safety

(3) To test chemical safety

(4) To make better quality seeds

Options :

212807113297. 1
212807113298. 2
212807113299. 3
212807113300. 4

Question Number : 30 Question Id : 21280728325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

RS{el Sqel % ST & G B Teld HeH R § 2
(1) T & FHIT HH & foag

) ¥Rt gRaT % adem & fay
(3) THIEA i H& < TlE & ferg

) SEa el 9T S 99 % A



Options :

212807113297. 1
212807113298. 2
212807113299. 3
212807113300. 4

Question Number : 31 Question Id : 21280728326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The bacterium used by “Eli Lilly’, an American Company, to produce insulin chains is :
(1) Bacillus thuringiensis
(2) Agrobacterium tumefaciens
(3)  Escherichia coli
(4)  Streptococcus pneumoniae
Options :
212807113301 1
212807113302. 2

212807113303. 3
212807113304. 4

Question Number : 31 Question Id : 21280728326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e gaensii 1 3cueA T FTell Uk TR ol Uehl-foeft §R1 S § @ S arer Sary] -
qg?
(1) @ifger gfif~mafag
(2) THEFEIRTT gAHyTg
(3) TR=ERIf=Ir #ieire
(4) TEFHHT ZEA
PRI 3301
212807113302. 2

212807113303. 3
212807113304. 4

Question Number : 32 Question Id : 21280728327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Which of the following statements regarding Genetically Modified Organisms are not correct ?
(A) Crops are more tolerant to abiotic stresses

(B) Pest-resistant crops

(C) Post harvest losses are more

(D) Reduced efficiency of mineral usage by plants

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (A) and (C) only
(3) (C) and (D) only
(4) (B) and (D) only

Options :

212807113305. 1
212807113306. 2
212807113307. 3
212807113308. 4

Question Number : 32 Question Id : 21280728327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

ST TR At Sia @ fasm # fm § § SF-1v8 e Ted 27 7
(A) sTSifasr arel o wfd v sifeer wfew) At ©

(B) dre® ufadist =

(C) e & a1 B ATl afai siferes §

(D) 9edl SR WiHSI o IUART LA ol FHUeTdl HH & Sl &

9 feu u fawmedi § 9 U@ 3 &1 999 SifSa .

(1) e (A) IR (B)

(2) e (A) ¥R (O)
(3) HEA (C) IR
(4) &ad (B) iR (D

Options :

212807113305. 1
212807113306. 2
212807113307.3
212807113308. 4

Question Number : 33 Question Id : 21280728328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




If there were 100 rose plants in a garden last year. 20 new rose plants are added through

reproduction in current year. The birth rate of rose is offspring per rose per year.
(1) 0.5
(2) 5.0
(3) 0.02
(4) 0.2
Options :

212807113309. 1
212807113310. 2
212807113311.3
212807113312. 4

Question Number : 33 Question Id : 21280728328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Tfe qd ad # fordft s & 100 Tore 3 Y & | adaE o # goE gr SEH 20 2 9 i gfafed @ Sw
HEGEEISE Gafa / T / 59 ¥

(1) 05

(2) 5.0

(3) 0.02

(4) 0.2

Options :

212807113309. 1
212807113310. 2
212807113311.3
212807113312. 4

Question Number : 34 Question Id : 21280728329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Select the organisms which breed once in their lifetime.
(A) Squirrel

(B) House sparrow

(C) Pacific salmon

(D) Bamboo

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2)  (B) and (C) only
(3) (B)an (D) only
(4) (©) and (D) only
Options :

212807113313. 1
212807113314.2
212807113315. 3
212807113316. 4



Question Number : 34 Question Id : 21280728329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

YA S A H el Uh 9R) Bl Y5999 FE 9 Sl H 999 F

(A) fre=d

(B) fafem
(C) el aremT weel
(D) i

== feu TTu fomredi § § W&t I 1 997 T
(1) hdad (A) 3R (B)
(2) & (B) &R (O)
(3) ad (B) $iR (D)
(4) 9@ (C) 3R (D)
Options :
212807113313. 1
212807113314.2

212807113315.3
212807113316. 4

Question Number : 35 Question Id : 21280728330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In which ecosystem, a larger fraction of energy flows through detritus food chain (DFC) than
through grazing food chain (GFC) ?

(1) Pond ecosystem
(2) Lake ecosystem
(3) River ecosystem
(4) Terrestrial ecosystem

Options :

212807113317. 1
212807113318.2
212807113319.3
212807113320. 4

Question Number : 35 Question Id : 21280728330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




o afita= § St U 9 &1 ga | ST | @ g1 SATe Il 1 YaTe Sl & 2
(1) dred qifia=

(2) ia aiia=

(3) I W=

(4) T U=
Options :

212807113317. 1
212807113318. 2
212807113319. 3
212807113320. 4

Question Number : 36 Question Id : 21280728331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Identify the statements which are not true for the natural ecosystem.
(A) Grassland and desert are examples of terrestrial ecosystem.

(B) Oceans and rivers are man-made ecosystems.

(C) Wetland and estuary are examples of aquatic ecosystem.

(D) Crop fields and aquarium are natural ecosystems.

Choose the correct answer from the options given below :

(1) (A) and (C) only

(2) (B) and (C) only

(3) (A) and (B) only

(4) (B) and (D) only

Options :

212807113321. 1
212807113322.2
212807113323.3
212807113324. 4

Question Number : 36 Question Id : 21280728331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




= 8 & SiF-91 / 9 e Wil aids & v H udi e g/ €2
(A) STEEI q1 TEE, Tfere T o e €

(B) HEERR e Afeai Ara ffda ot €

(C) e g qo SRS el Wifids & e €

(D) B qT STALel ehiaeh qiias 2

== feu Tu faskedi § | Wt ST 1 99 Hifl

(1) e (A) 3R (C)

(2) e (B) 3T (C)

(3) A (A) SR (B)

(4) %94 (B) 3R (D)

Options :

212807113321. 1
212807113322.2
212807113323.3
212807113324. 4

Question Number : 37 Question Id : 21280728332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The greatest biodiversity on the earth is seen in :
(1) Taiga forest

(2) The Amazon rain forest

(3) Tundra forest

(4) Deserts

Options :

212807113325. 1
212807113326.2
212807113327.3
212807113328. 4

Question Number : 37 Question Id : 21280728332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Compraanan Nico

ged) R Taifae Sa fafaua wal v S5t s 82
(1) <me=A

(2) TS % aui-ad

() g

(4) wHEHA
Options :

212807113325. 1
212807113326.2



212807113327.3
212807113328. 4

Question Number : 38 Question Id : 21280728333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II

(A) Genetic diversity ()  Mangroves and Coral reef

(B) Species diversity (I)  Rauwolfia vomitoria in different Himalayan ranges
(C) Ecological diversity (IIT) Amphibians in Western Ghats

(D) Biodiversity loss (IV) Dodo in Mauritius

Choose the correct answer from the options given below :

(1) (A, (B)-QV), (C)-(), (D)-(1I)

(2)  (A)-(D), (B)-(II), (O)-(1), (D)-(IV)
(3)  (A)-(D), (B)-(IT), (O)-(III), (D)-(IV)
(4)  (A)-(D), (B}-(IV), (O-(I), (D)-(IN)
Options :

212807113329. 1
212807113330. 2
212807113331.3
212807113332. 4

Question Number : 38 Question Id : 21280728333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

-1 % 1 gER-11 1 fem #ifse
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(A) @9mma fafgerm (D H4rE qen yara fafa

(B) gsiifd faferer () fafv= feae gaensil § y3aicwg aifeiiRar
(C) uiiferfaer fafaerm (1) afe=Hl =R § 39N

(D) ia fafgermar g= (IV) AReE § e

== feu 7u faskedi § O T&E ST F1 994 HifC

(1) (A1), (B)-V), (C)-(0), (D)~
(2)  (A)-1D), (B)-D), (©)-@), (D)-(IV)
(3) (A1), (B)-(ID), (O)-(III), (D)-(IV)
(4) (A1), (B)-(IV), (OI), (D)-(IT)
Options :

212807113329. 1
212807113330.2
212807113331.3
212807113332. 4



Question Number : 39 Question Id : 21280728334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Particulate air pollutants from a thermal power plant are removed by :
(1) Catalytic converters

(2) Scrubbers

(3) Electrostatic precipitator

(4) Filtration

Options :

212807113333. 1
212807113334.2
212807113335.3
212807113336. 4

Question Number : 39 Question Id : 21280728334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

drafeEd o § witentd ueiel 1 g S ©
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(4) =T g

Options :

212807113333. 1
212807113334.2
212807113335.3
212807113336. 4

Question Number : 40 Question Id : 21280728335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Dobson Unit (DU) is used to measure :
(1) Noise mtensity
(2) Air quality
(3) Thickness of Ozone
(4) Water quality
Options :
212807113337. 1
212807113338. 2

212807113339.3
212807113340. 4



Question Number : 40 Question Id : 21280728335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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(1) ¥R Al g

(2) @ T IO

(3) AT =i HierE

(4) ST i TOTEEI
Options :

212807113337. 1
212807113338.2
212807113339.3
212807113340. 4
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Is Section Default? : null

Question Number : 41 Question Id : 21280728336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Observe the given figure and answer the question.

D 3

C 3,54,000 .

B 7,08,000

A 5,842,000
Ecological pyramid

Which is a correct statement with respect to the ecological pyramid ?
(1) Trophic level represents a species.
(2) An organism may occupy more than one trophic level simultaneously.
(3) Pyramid of energy is never upright.
(4) The base of each pyramid is always broad.
Options :
212807113341, 1
212807113342. 2

212807113343.3
212807113344. 4



Question Number : 41 Question Id : 21280728336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

FuT fau T fosr o1 st & e e feu T uvs = S it

D 3

C 3,54,000 E
B 7,08,000

A 5,842,000

yiitfeufasd faafie
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Options :

212807113341. 1
212807113342. 2
212807113343.3
212807113344. 4

Question Number : 42 Question Id : 21280728337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp1




Observe the given figure and answer the question.

D 3

C 3,54,000 E

B 7,08,000

A 5,842,000
Ecological pyramid

The value 3,54,000 in the figure represent :

(1) Number of primary consumers

(2) Number of secondary consumers

(3) Dry weight of secondary consumers in kgm™
(4) Dry weight of primary consumers in kgm~?2

2

Options :

212807113345. 1
212807113346. 2
212807113347.3
212807113348. 4

Question Number : 42 Question Id : 21280728337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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D 3

C 3,54,000 E
B 7,08,000

A 5,842,000

yiifefaeha fifire
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Options :

212807113345. 1
212807113346. 2
212807113347.3
212807113348. 4
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
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Observe the given figure and answer the question.

D 3

C 3,54,000 .

B 7,08,000

A 5,842,000
Ecological pyramid

Identify the statements which hold true with respect to the above figure ?
(A) The figure shows the pyramid of biomass.

(B) The value of ‘D" will always be lower than ‘A’ in grassland ecosystem.
(C) The energy at “A’ is higher than the energy at ‘D’.

(D) The energy at ‘D’ is higher than the energy at ‘A’.

Choose the correct answer from the options given below :

(1) (A)and (B) only

(2) (A) and (C) only
(3) (B) and (C) only
(4) (B)and (D) only
Options :

212807113349. 1
212807113350. 2
212807113351.3
212807113352. 4

Question Number : 43 Question Id : 21280728338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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D 3

C 3,54,000 .
B 7,08,000

A 5,842,000

yTitfeafad fafire
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(B) To=1 frofaia uraeee niftds =1 o w1 &
(C) ‘A’ W, ‘D’ i goa1 H i et §

(D) ‘D' W, ‘A’ i gor H it Tt €

9 feu Tu faswedl § 9 W& SW H A HIWT
(1) & (A) 3 (B)

(2) Ed (A) 3R (C)
(3) “hed (B) 3T (C)
(4) e (B) ¥R (D)
Options :

212807113349. 1
212807113350. 2
212807113351. 3
212807113352. 4

Question Number : 44 Question Id : 21280728339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl




Observe the given figure and answer the question.

D 3
C 3,54,000 .
B 7,08,000
A 5,842,000
Ecological pyramid
Match List - I with List - 1L
List - I List - II
Number /Trophic level Label
(A) Number of individuals (h B
(B) Primary consumer (I A
(C) Primary Producer (I D

(D) Top Carnivore (IV) E

Choose the correct answer from the options given below :
(1) (A)-IV), B)-(1), (O-1D, (D)-(II)

(2)  (A)-1), (B)-(IV), (O)-(1I), (D)-()

(3) (A1), (B)-(), ©)-1), (D)-(IV)
(4) (A, (B)-(ID), (©-(IV), (D)-(0)
Options :

212807113353. 1

212807113354. 2

212807113355.3
212807113356. 4

Question Number : 44 Question Id : 21280728339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp
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D 3

C 3,54,000 |

B 7,08,000

A 5,842,000
urfifeufashr fiafirs

Ell-1 & WY Gell-11 1 fHam Hif
-1 TEI-11

AT/ UIST W AR
(A) =aftedi i dem () B
(B) Wreifek IuHiert (I A
(C) wafHs IEH 1) D
(D) iRy ArgERT (IV) E

== feu U famedi § 9 HEt ST 1 997 S ;

(D (A)-(1V), (B)-(D), (O-(T), (D)-(II)
(2)  (A)-(D), ( ) (IV), (O-1 ): (D)-(I)
(3)  (A)-(1D), (B)-(I1), (©)-(1), (D)}-(IV)
(4) (A)-(ID), ( )( D), (©-(V), (D)-(0)
Options :

212807113353. 1
212807113354.2
212807113355.3
212807113356. 4

Question Number : 45 Question Id : 21280728340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
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Observe the given figure and answer the question.

D 3

C 3,54,000 £

B 7,08,000

A 5,842,000
Ecological pyramid

Complete the statement “The organisms at each trophic level depend on those at .......
(1) Higher trophic level for their energy demands

(2) Lower trophic level for their shelter demands

(3) Higher trophic level for their food demands

(4) Lower trophic level for their energy demands

Options :

212807113357. 1
212807113358. 2
212807113359. 3
212807113360. 4

Question Number : 45 Question Id : 21280728340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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D 3

C 3,54,000 .
B 7,08,000

A 5,842,000

yiitfeafad fafire
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Options :

212807113357. 1
212807113358.2
212807113359.3
212807113360. 4

Sub-Section Number : 3
Sub-Section Id : 2128072066
Question Shuffling Allowed : No

Is Section Default? : null
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Observe the given figure and answer the question.

What does the given diagram show ?

(1) Post transcriptional processing of RNA in Prokaryotes
(2) Termination of translation

(3) Process of transcription in Prokaryotes

(4) Process of transcription in Eukaryotes

Options :

212807113361. 1
212807113362. 2
212807113363.3
212807113364. 4

Question Number : 46 Question Id : 21280728341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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Options :

212807113361. 1
212807113362. 2
212807113363. 3
212807113364. 4

Question Number : 47 Question Id : 21280728342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Correct Marks : S Wrong Marks : 1
Question Key Details :
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Observe the given figure and answer the question.

Match List - I with List - I1.

List - I List - II
Structure Label
(A) Methyl Guanosine Triphosphate () F
(B) Intron (I I
(C) Poly A tail (I C
(D) Fully processed hn RNA (IV) H

Choose the correct answer from the options given below :
(1) (A0 (B)-(ID); (O, (D)-{LV)

(2)  (A)-(I), (B)-(I), (O)-(D), (D)-(IV)
(3)  (A)-I1I), (B)-(I), (C)-(IV), (D)-(I)
(4) (A1), (B)-(I), (O)-(IV), (D)-(I)
Options :

212807113365. 1
212807113366. 2
212807113367. 3
212807113368. 4

Question Number : 47 Question Id : 21280728342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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feu wu fo A1 raciieR SRt AT US T W9 hT SWT ST |
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(C) el A 2d () C
(D) YUid: YEHER{E hn RNA (IV) H

= fou 7T fawedl 8 9 W&t ST F1 999 HifeT :
(1) (A)-D), (B)-(1I), (O-1I), (D)-IV)

(2)  (A)-(ID), (B)-(II), (O)-(D, (D)-(IV)
(3) (A)-(II), (B)-(I), (C)-(IV), (D)-(I)
(4)  (A)-(0), (B)-(1T), (O)-(1V), (D)-(I)
Options :

212807113365. 1
212807113366. 2
212807113367.3
212807113368. 4
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Observe the given figure and answer the question.

RNA polymerase III is responsible for the transcription of which of the following ?
(1) tRNA, rRNA, mRNA

(2) tRNA, 5srRNA, snRNA

(3) 5srRNA, tRNA, mRNA

(4) snRNA, rRNA, 5srRNA

Options :

212807113369. 1
212807113370. 2
212807113371.3
212807113372. 4

Question Number : 48 Question Id : 21280728343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
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(1) tRNA, rRNA, mRNA
(2) tRNA, 5srRNA, snRNA
(3) 5srRNA, tRNA, mRNA
(4) snRNA, rRNA, 5srRNA
Options :
212807113369. 1
212807113370. 2

212807113371.3
212807113372. 4
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Observe the given figure and answer the question.

Identify the correct sequence of events occurring in the process shown in the figure.
(A) Tailing and Splicing

(B) Transport of the molecule out of the nucleus

(C) Transcription of precursor RNA by RNA polymerase II
(D) Capping

Choose the correct answer from the options given below :
(1) (B) (A), (©. (D)

(2) (B) (&), (D), (O)

3) (©), D). (4), (B)

(4) (A) (D) (B), (O

Options :

212807113373. 1

212807113374.2

212807113375.3
212807113376. 4
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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(1) (B), (A). (©), (D)

(2) (B), (A), (D), (©)

3) (©), (D), (A), (B)

(4) (A) (D), (B), (O

Options :

212807113373. 1
212807113374.2
212807113375.3
212807113376. 4
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Observe the given figure and answer the question.

Transcription can be coupled with translation in bacteria because :
(1) There is no separation of cytosol and nucleus.

(2) Post-transcriptional processing of RNA is a simple process.

(3) Transcription is a faster process than transcription in bacteria.
(4) RNA molecule has a complex structure.

Options :

212807113377. 1
212807113378. 2
212807113379.3
212807113380. 4
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Options :

212807113377. 1
212807113378.2
212807113379. 3
212807113380. 4
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What is the packing efficiency of simple cubic lattice ?

(1) 69%
(2) 74%
(3) 52.4%
(4) 80.2%
Options :
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LA YA STtk shi GhaT &0l a1 & 2
(1) 69%
(2) 74%
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(4) 80.2%
Options :
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212807113382.2
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Match List - T with List - IL

List - I List - II
(A) Diamagnetic solid O CrO,
(B) Ferromagnetic solid (I) FeyO,
(C) Antiferomagnetic solid (IIT) NaCl

(D) Ferrimagnetic solid (IV) MnO

Choose the correct answer from the options given below :
(1) (A1), B)-AV), ©)-1), (D)-(1)

(2) (A1), (B)-(1), (O-1V), (D)-(II)

(3)  (A)-D), (B)-(UD), (O)-(ID), (D)-(IV)

(4)  (A)-IV), (B)-(ID), (©)-(D), (D)-(II)

Options :

212807113385. 1
212807113386. 2
212807113387.3
212807113388. 4
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(B) W raehd 314 (I)  FeyO,
(C) fd «ie Yo 39 (Ill) NaCl
(D) I Ja%d 3 (IV) MnO

frafafag fasedi § 9 W& 3 &1 99F Sifed
(1)  (A)-(I), (B)-(IV), (C)-(I), (D)-(III)

(2)  (A)-(I), (B)«I), (C)-(IV), (D)-(I
(3) (A)-(1), (B)-(III), (C)-(1, (D)-(I
(4) (A)-IV), (B)~(1L), (C)-(I), (D)-(IL

Options :

212807113385. 1
212807113386. 2
212807113387. 3
212807113388. 4
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When blood cells are placed in 1% (w/v) NaCl aquem solution :
(1) Cell will burst

(2) Cell will shrink

(3) Cell will swell

(4) Cell remains as such

Options :

212807113389. 1
212807113390. 2
212807113391.3
212807113392. 4
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(2) eRifEeR epfa & Sl 8

(3) ehifeeh el Sl €

(4) ehifezen FeEd &l ©

Options :

212807113389. 1
212807113390. 2
212807113391.3
212807113392. 4

Question Number : 54 Question Id : 21280728349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Decreasing order of freezing point of 0.1 M aqueous solution of following will be :

(A) K,[Fe(CN)]
(B) K,S0O,
(C) NH,CONH,
(D) AICI,
(E) HCI

Choose the correct answer from the options given below :
(1) (A)>([D)>(B) > (E) > (C)

(2) (A)>(D)>(B)>(C) > (E)
(3) (©>(E)>(B)>(D)>(A)
(4) (E)>(C) >(B)>(D)>(A)
Options :

212807113393. 1
212807113394. 2



212807113395.3
212807113396. 4

Question Number : 54 Question Id : 21280728349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

0.1 M Sieitg faeem fewert am = ffafe & el w9 ¥ fafen .
(A) K [Fe(CN)]

(B) K,SO,

(C) NH,CONH,

(D) AICL,

(E) HCI

frfafaa fosreal § T W& 3T HT =TI HifoC :
(1) (A)>([D)>(B) > (E)>(©)

(2) (A)>([D)>(B)> () > (E)

3) (©>(E)>(B)>(D)>(A)
(4) (B)>(O)>(B)>([D)>(A)

Options :

212807113393. 1
212807113394.2
212807113395.3
212807113396. 4

Question Number : 55 Question Id : 21280728350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Osmotic pressure of solution formed by mixing 50 ml of 0.2 M urea and 50 ml of 0.4 m glucose
aqueous solution at 298 K will be : (R=0.083 L atm K~ ! mol 1)

(1) 14.84 atm

(2) 7.42 atm

(3) 11.13 atm
(4) 3.71 atm

Options :

212807113397. 1
212807113398.2
212807113399.3
212807113400. 4

Question Number : 55 Question Id : 21280728350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




50 ml of 0.2 M FLA1 921 50 ml 0.4 m ehTd & el faerd a1 298 K 9 &1 €@ 81 : (R =0.083
litre atm K~ 1 mol~1)
(1) 14.84 atm

(2) 7.42 atm
(3) 11.13 atm
(4) 3.71 atm

Options :

212807113397. 1
212807113398. 2
212807113399. 3
212807113400. 4

Question Number : 56 Question Id : 21280728351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Degree of dissociation, when molar conductivity of X at its concentration C is 24.14 and its limiting
molar conductivity is 48.28 will be :

1) 0.3
@) 05
3) 0.6
4) 0.9

Options :

212807113401. 1

212807113402. 2
212807113403. 3
212807113404. 4

Question Number : 56 Question Id : 21280728351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
S X W Tigdl, C Ush AR el 24,17 § 9 391 W Aok et 48.28 § a1 farsm amsn grff -
1) 0.3
2) 05
(3) 0.6
(4) 0.9
Options :

212807113401. 1
212807113402. 2
212807113403. 3
212807113404. 4

Question Number : 57 Question Id : 21280728352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension MCQ

E . for the given cell
Pt(s)/Br,(1)/Br (0.1 M)/ /C1~(0.01 M)/Cl,(g)(1 atm)/Pt(s)

o o

[Given Bpy, /g =T 109V, Eqy - =+1.36 V] at 298 Kis
(1) 0.1518 V
(2) 0.3291 V
(3) 0.3882 V
(4) 0.2109 V
Options :

212807113405. 1
212807113406. 2
212807113407. 3
212807113408. 4

Question Number : 57 Question Id : 21280728352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

e 1 ¥
Pt(s)/ Br,(1)/Br ~ (0.1 M)/ /C1~(0.01 M)/Cl,(g)(1 atm)/Pt(s)

(RAEEy g =+109V,Eq o =+136V]F 298 KRE, F T &1
(1) 0.1518 V
(2) 03291V
(3) 0.3882V
(4) 0.2109 V
Options :

212807113405. 1
212807113406. 2
212807113407. 3
212807113408. 4

Question Number : 58 Question Id : 21280728353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

If we use molten NaCl, the products of electrolysis are
(1) H, gas and Cl, gas

(2) NaOH and (I, gas

(3) H,O and Cl, gas

(4) Sodium metal and Cl, gas

Options :

212807113409. 1
212807113410. 2
212807113411.3



212807113412. 4

Question Number : 58 Question Id : 21280728353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tfg en fasen gam NaCl @ @t fagg fordem w soarg
(1) H, ™ sRcl, ™

(2) NaOH 3R Cl, ¥4

(3) H,O IR Cl, 1™

(4) Hifeam yrg s Cl, T

Options :

212807113409. 1
212807113410. 2
212807113411. 3
212807113412. 4

Question Number : 59 Question Id : 21280728354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

tgg g9, With respect to tyg0, for a first order reaction is :

(1) Two

(2) One

(3) Three

(4) Four
Options :

212807113413. 1
212807113414. 2
212807113415.3
212807113416. 4

Question Number : 59 Question Id : 21280728354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

too.ge, I toge, T HIUET YA #hife =i tfufshan € -
n =

(2) Tk

(3

(4) =R
Options :

212807113413. 1
212807113414.2



212807113415. 3
212807113416. 4

Question Number : 60 Question Id : 21280728355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A reaction takes 30 minutes to complete 50% of the reaction and takes 45 minutes to complete 75%
of the reaction. The order of the reaction is :

(1) First

(2) Second

(3) Third

(4) Zero
Options :

212807113417. 1
212807113418.2
212807113419. 3
212807113420. 4

Question Number : 60 Question Id : 21280728355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ferelt aaf¥feran =1 50% = H 30 e ova & 9 75% e W 45 foe o €1 stfaferan =) =ife &
(1) T
(2

(3) T
(4) s
Options :

212807113417. 1
212807113418. 2
212807113419.3
212807113420. 4

Question Number : 61 Question Id : 21280728356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Rate of a reaction changes from 2.48 x10~3 mol~! sec™! to 4.96 x 102 mol ~! sec ~! when
concentration of reactant, is changed from 0.6 M to 24 M respectively, the order of reaction is :

(1) 2

(2) zero
(3) 0.5
4 3



Options :

212807113421. 1
212807113422.2
212807113423. 3
212807113424. 4

Question Number : 61 Question Id : 21280728356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

arfufsram 37 248 x 1073 mol =L sec ™1 W 4.96 x 10 3 mol ~ ! sec~ 1 § gfafda &1 2, S&fs fFan s
1 GrEdl AW 0.6 M & 2.4 M ¥ uftafdq &ifa &, sifufraan @

1) 2

(2) zero

(3) 0.5

(4) 3
Options :

212807113421. 1
212807113422.2
212807113423.3
212807113424. 4

Question Number : 62 Question Id : 21280728357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Coagulating power of an ion for a colloidal solution depends on :
(1) Its magnitude of charge only

(2) Its size only

(3) Its tendency to hydrate

(4) Its size and magnitude of charge both

Options :

212807113425. 1
212807113426. 2
212807113427. 3
212807113428. 4

Question Number : 62 Question Id : 21280728357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Icied faamd & feau em ot Wher wfad Fef Fdt €
(1) Had A9 & 7 T

(2) SHR W

(3) SIEENH Y W

(4) Y & SHR A HEH SHI T

Options :

212807113425. 1
212807113426. 2
212807113427.3
212807113428. 4

Question Number : 63 Question Id : 21280728358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following sols are correctly matched with their corresponding charges ?
(A) Cr(OH), sol : negatively changed sol
(B) TiO, sol: positively charged sol
(C) CdS sol: positively charged sol
(D)
(

E) Silver sol : positively charged sol

Gum : negatively charged sol

Choose the correct answer from the options given below :
(1) (C) and (E) only
(2) (A)and (C) only

(
(3) (B) and (E) only
(4) (B) and (D) only

Options :

212807113429. 1
212807113430. 2
212807113431.3
212807113432. 4

Question Number : 63 Question Id : 21280728358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




for dici =1 st & wEt fer 82

(A) Cr(OH), §id : SR STe e |id
(B) TiO, sol : ¥ATeH ARG Hiel
(C) CdS sol : &HF HERE Hid

(D) Gum : 3R SETd |ie

(E)  Silver sol : ¥ATcHe STEE Hidt

3y fe T Farredl @ T IR A1 9 T
(1) (C) ¥R (E) %od

@) ()aﬁv ) el

(3) (B) R (E) e

(4)  (B) 3R (D) hefed

Options :

212807113429. 1
212807113430. 2
212807113431. 3
212807113432. 4

Question Number : 64 Question Id : 21280728359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL

List - I List - II
(A) Gel (I) Hair cream
(B) Foam (I) Dust
(©) Emulsion (III) Cheese

(D) Aerosol (IV) Whipped cream
Choose the correct answer from the options given below :
(1) (A)-1). (B)-(V), (O-(IL), (D)-(I)

(2)  (A)-(IV), (B)-(D), (O)-(1D), (D)-(II)
(3)  (A)-(D), (B)-(IN), (O)-(ID), (D)-(IV)
(4)  (A)-(0), (B)-(IV), (O)-(0), (D)-(I)
Options :

212807113433. 1
212807113434.2
212807113435. 3
212807113436. 4

Question Number : 64 Question Id : 21280728359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Tl - 1l Gt - 11 H et &

-1 el - 11
(A) S (I) e & %M
(B) M I g«
(C) u=H (1) TR
(D) A (IV) T3t =0
= o3 7 faeredl © Wt I F T99 FHITAU
(1)  (A)-(1), (B)-(IV), (O)-(II), (D)-(II)
(2)  (A)-(IV), (B)-(I), (O)-(I), (D)-(IT)
(3)  (A)-(D), (B)-(II), (O)-(I1L), (D)-(IV)
(4) (A)-(IID), (B)-(IV), (O)-(1), (D)-(IT)
Options :

212807113433. 1
212807113434. 2
212807113435.3
212807113436. 4

Question Number : 65 Question Id : 21280728360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - II.
List - I List - II
(A) Urease (I)  Maltose
(B) Maltase (II)  Glucose and fructose
(C) Invertase (III) NH4 and CO,

(D) Diastase (IV) Glucose
Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(1V), (O)-), (D)-[0)
I

(2)  (A)-(D), (B)}-(IV), (O-(1), (D)-(II)
(3)  (A)-(In), (B)-(I), (O)-(), (D)-(IV)
(4)  (A)-(I1D), (B)-(I), (C)-(IV), (D)-(II)
Options :

212807113437. 1
212807113438. 2
212807113439. 3
212807113440. 4

Question Number : 65 Question Id : 21280728360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




et - 1 Rl et - 11 fifefr i

11111

(1) (A)-(D), (B)AIV), (O)-(IT), (D)-(I)
(2) (A1), (B)-IV), (O)-(1I), (D)~
(3)  (A)-(D), (B)-(1D), (©)-1), (D)-(IV)
(4)  (A)-(1D), (B)-(1), (O)-IV), (D)-(ID)
Options :

212807113437. 1
212807113438.2
212807113439. 3
212807113440. 4

Question Number : 66 Question Id : 21280728361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

When dilute aqueous solution of KI (excess) is added to AgNO; solution, the charge on the Agl
colloidal, particles formed will be :

(1) Positive

(2) Negative

(3) Neutral

(4) Both positive and negative

Options :

212807113441. 1
212807113442.2
212807113443.3
212807113444. 4

Question Number : 66 Question Id : 21280728361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Sfa T Sttt faer K1 (i) F1 AgNO, & faerm 8 faam €, Agl #ia@e & &0 W ey
I

(1) =4

(2) =u

(3) CHM

(4) U9 F YU e

Options :

212807113441. 1
212807113442.2
212807113443.3
212807113444. 4

Question Number : 67 Question Id : 21280728362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Match the ores in List - I with their chemical composition in List - IL

List - I List - II
(A) Kaolinite () FeCO,
(B) Siderite () ZnCO,
(C) Malachite (Ill) [Al,(OH),Si,05]
(D) Colamine (IV) CuCO, . Cu(OH),

Choose the correct answer from the options given below :

(1) (A)-1V), (B)-(I), (O)-1), (D)-0)
(2)  (A)-1D), (B)-(II), (©)-(IV), (D)-(0)

(A)-(
(3)  (A)-D), (B)-(T), (O-(IV), (D)-(ID)
(4)  (A)-(11D), (B)-I), (©)-(IV), (D)-()

Options :

212807113445. 1
212807113446. 2
212807113447. 3
212807113448. 4

_,—.,',_‘_

Question Number : 67 Question Id : 21280728362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




et - 1 ! TR =1 o foft gt - 118 fier Sifs
T - 11

I) FeCO,

I) ZnCO,

1) [Al,(OH),Si,0x]

(IV) CuCO, . Cu(OH),

112

(1) (A)-IV), (B)-(I), (O)-(11), (D)-(T)
(2)  (A)-10), (B)-D), (©)-1V), (D)-[0)
(3)  (A)-(1D), (B)-(D), (O-(IV), (D)-(IT)
(4) (A)-(IID), (B)-(1D), (©)-(IV), (D)-(D)
Options :

212807113445. 1
212807113446. 2
212807113447.3
212807113448. 4

Question Number : 68 Question Id : 21280728363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Ferric oxide in blast furnace’s upper half is mainly reduced by :

(1) CO
(2) C
(3) CO,
(4) H,
Options :

212807113449. 1
212807113450. 2
212807113451.3
212807113452. 4

Question Number : 68 Question Id : 21280728363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Comretomion hico

AT o T ST H ek oifamrse % ou9ae § Ugad g1 ©
(1) CO

(2) C

(3) CO,

(4) H,
Options :

212807113449. 1
212807113450. 2



212807113451. 3
212807113452. 4

Question Number : 69 Question Id : 21280728364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In a reaction :
MnO, +8H* +5e — A +H,0

A stands for :

(1) Mn3*
(2) Mntt
(3) Mn2*
(4) Mn*
Options :

212807113453. 1
212807113454.2
212807113455.3
212807113456. 4

Question Number : 69 Question Id : 21280728364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

sAfufzran §
MnO, +8H" +5¢ - _ A +H,0
A AR g

(1) Mn3*

(2) Mnt*

(3) Mn2*

(4) Mnt
Options :

212807113453. 1
212807113454.2
212807113455.3
212807113456. 4

Question Number : 70 Question Id : 21280728365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Second most abundant element in alloy misch metal is :

(1) Fe
(2) Ce
(3) Al
(4) S
Options :

212807113457. 1
212807113458. 2
212807113459.3
212807113460. 4

Question Number : 70 Question Id : 21280728365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Conprehenion Nico

o1 et foereng & gou gaifues 1@ o aren 99§
(1) Fe

(2) Ce

(3) Al

(4) S
Options :

212807113457. 1
212807113458. 2
212807113459.3
212807113460. 4

Question Number : 71 Question Id : 21280728366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A divalent ion of “V" (Atomic no. —23) in aqueous solution is :

(1) 22 BM
(2) 15 BM

(3) 12 BM
(4) 3 BM
Options :

212807113461. 1
212807113462. 2
212807113463. 3
212807113464. 4

Question Number : 71 Question Id : 21280728366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




T fgEaShia V7 (YY) |E —23) | e faerd ¢ -

(1) 24 BM
(2) Vi35 BM
(3 (12 BM
(4) 3 BM
Options :

212807113461. 1
212807113462. 2
212807113463.3
212807113464. 4

Question Number : 72 Question Id : 21280728367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Increasing order of oxidation states of transition metal oxides will be :

(A) TiO,
(B) MnOj
(C) VO;
(D) CrO3”

(E) Ni (CO),
Choose the correct answer from the options given below :

(1) (B)<(D) <(C) <(A) < (E)
(2) (E)<(Q) <(A)<(D)<(B)
(3) (B)<(A)<(C) <(D)<(B)
(4)  (B)<(A)<(Q) < (D)< (E)

Options :

212807113465. 1
212807113466. 2
212807113467.3
212807113468. 4

Question Number : 72 Question Id : 21280728367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




ed gU HH H HHHUT o1 & RIS Bl

(A) TiO,

(B)  MnOy

(C) vOj

(D) CrO%”

(E) Ni (CO),

= fed T fasredi @ W@ s =EE SIS

(1) (B)<(D)<(C)<(A)<(E)

(2) (E)<(C) <(A)<(D)<(B)

(3) (E)<(A)<(C) <(D)<(B)

(4) (B)<(A)<(C)<(D)<(E)
Options :

212807113465. 1
212807113466. 2
212807113467. 3
212807113468. 4

Question Number : 73 Question Id : 21280728368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

[NiCl,(PPhs),] is named as :
(1) Dichloridobis (triphenyl phosphine) nickel (II)
(2) Nickel chlorido bis (triphenyl phosphine)
(3) Diphenyl phosphine Nickel (II) chloride
(4) Dichlorobis (Diphenyl phosphine) Nickel (II)
Options :
212807113469. 1
212807113470. 2

212807113471.3
212807113472. 4

Question Number : 73 Question Id : 21280728368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

NiCl,(PPhs), % T8 7 € :

(1) cERFIETTE (RfEEd wenH) e (1)
(2) Trwer Afte fom (ZEftFme wew)

(3) & e wienRE) e (1) FIREe

(4) =E FIRfoE (S§ fFmEa wrewE) e (1)




Options :

212807113469. 1
212807113470. 2
212807113471.3
212807113472. 4

Question Number : 74 Question Id : 21280728369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Inner orbital complex among the following is :
(A) [Co(NH,)JP*

(B) [CoFg*~

(C) [Ni(CN), 2~

(D) [MnClJ?~

(B) [FeFgJ*~

Choose the correct answer from the options given below :
(1) (A) and (C) only

(2) (D) and (E) only

(3) (B)and (C) only

(4) (C) and (D) only

Options :

212807113473, 1

212807113474. 2

212807113475. 3
212807113476. 4

Question Number : 74 Question Id : 21280728369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Siafie sRfees T%a 570 9 ¢ ¢
(A) [Co(NH)s]**
(B) [C0F6]3_
(©) [Ni(CN)4]2_
(D) [MnCLJ?~
(E) [FeF 3~

g fed 3 faspedl § @ W S fafa
(1) (A) 3R (C) ot
(2) (D) ¥R (E) %ot
(3) ()W(C)%W
(4) (C) X (D) e

Options :
212807113473. 1



212807113474.2
212807113475.3
212807113476. 4

Question Number : 75 Question Id : 21280728370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Identify transition metal complexes which are not octahedral in shape.
(A) [Co(NHy) >+

(B)  [Ni(CO)y]

(C) [CoCLYNH,)]**

(D) [CoCl,(NH;),] ™

(E) [PtCL]=~

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (B) and (E) only

(3) (O and (D) only

(4) (D) and (E) only

Options :

212807113477. 1

212807113478, 2

212807113479.3
212807113480. 4

Question Number : 75 Question Id : 21280728370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

3T HeASh T HATHR ATl HeHHU o7 & Hehot Sl TeaM :
(A) [Co(NH,)eJ**
(B) [Ni(CO),]

(C) [CoCINH,)s]>*

(D) [CoCl,(NH,),]*

(E) [PtCl,]2~

31 o 3 Ferere § @ W SR oty
(1) (A) ¥R (B) %ae

(2) (B) 3R (E) Fae

(3) (O) ¥ (D) et

(4) (D) ¥R (E) o

Options :

212807113477. 1

212807113478.2
212807113479.3



212807113480. 4

Question Number : 76 Question Id : 21280728371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

CHZ_X,

These structures represent which particular kind of halides :
(1) Alkyl halides
(2) Benzylic halides
(3) Vinyl halide
(4) Allylic halides
Options :
212807113481, 1
212807113482. 2

212807113483.3
212807113484. 4

Question Number : 76 Question Id : 21280728371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

CHZ_X,

I8 G fag fafyre gamee = wfaffaa et §
(1) TUchAadA TS

(2) SEfa® AR
(3) T Eemse
(4) TEAfGF RS

Options :

212807113481. 1
212807113482.2
212807113483.3
212807113484. 4

Question Number : 77 Question Id : 21280728372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following haloalkanes reacts with aqueous KOH most easily ?
(1) 1-Bromobutane

(2) 2-Bromobutane

(3) 2-Bromo-2-methyl propane

(4) 2-Chlorobutane

Options :

212807113485. 1
212807113486. 2
212807113487.3
212807113488. 4

Question Number : 77 Question Id : 21280728372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gTH 9 i |1 gelleshd Wadl 4 KOH & Saig faomem 8 sifufsan e 82
(1) 15 A

(2) 2-5F

(3) 2-siHI-2-fRumEe 9ieH

(4) 2R A

Options :

212807113485. 1
212807113486. 2
212807113487.3
212807113488. 4

Question Number : 78 Question Id : 21280728373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




In which of the following molecules carbon atom marked with asterix (*) is a stereocentre or
Chiral centre ?

I
(1) *C—Br
7N
‘H
o el
H” CH:
OH
(3) * | o CHS
i
H CH,
§
ct-a
(4‘) H/ |
F
Options :

212807113489. 1
212807113490. 2
212807113491.3
212807113492. 4

Question Number : 78 Question Id : 21280728373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
TTH ¥ & 91 qrifeha o1 L dfTed wEta A= § 2
§
(1) *C—Br
N
H
o e
2 i o =
OH
(3) *(|:/CI-I3
" TCH,
)
ct-a
@ 5
F

Options :
212807113489. 1
212807113490. 2



212807113491. 3
212807113492. 4

Question Number : 79 Question Id : 21280728374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Phenol is manufactured from hydrocarbon, Cumene. Cumene is chemically :
(1) ter butyl benzene

(2) Isopropyl benzene

(3) Acetone

(4) 1isopropyl alcohol

Options :

212807113493. 1
212807113494, 2
212807113495.3
212807113496. 4

Question Number : 79 Question Id : 21280728374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

I 1 TR0 FIHIA BTggiehme § Bid1 ¢ | THEfae ®9 § FHE ©
(1) = 2Ea dsiia

(2) SEE WA S

(3) THEA

(4) TH YU TeRRd

Options :

212807113493. 1
212807113494. 2
212807113495. 3
212807113496. 4

Question Number : 80 Question Id : 21280728375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - T with List - IL
List - I List - II

(A) Antifreeze used in car engine () Phenol

(B) Starting material for picric acid (II)  Glycerol

(C©) Wood spirit (IIT)  Ethylene glycol
(D) By product of soap industry used in cosmetics (IV) Methanol

Choose the correct answer from the options given below :

(1) (A)-AV), (B)-(), (O)-(II), (D)-(II)
(2)  (A)-D), (B)-(I), (O-(ID), (D)-(IV)
(3) (A)-(I1D), (B)-(I), (C)-(I), (D)-(IV)
(4) (A)-(II), (B)-(L), (CO)-(1V), (D)-(II)
Options :

212807113497. 1
212807113498. 2
212807113499.3
212807113500. 4

Question Number : 80 Question Id : 21280728375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

et - 1 1 il - 11§ fHetr )
ekt - 1 - 11

(A) FR 5 H 9gH TS (D i

(B) fuferer st =1 R TR geed () frereia

(Q) 9= fare (III) SATIA TR

(D) HIEA IENT 1 Higd FH19T H 997 &1 (IV) AT
et Stfafer 3earg

== T3 79 faeredl § W& ST 1 597 &I

(1) (A)-(IV), (B)-(D), (O)-(II), (D)-(I)

(2)  (A)-(0), (B)-(II), (O, (D)-(1V)

(3)  (A)-(IID), (B)-(I), (O)-(II), (D)-(IV)

(4) (A)-(IID), (B)-(I), (O)-(IV), (D)-(ID)

Options :

212807113497. 1
212807113498. 2
212807113499. 3
212807113500. 4

Question Number : 81 Question Id : 21280728376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following is incorrect ?

H,S0 B
(1) CHy-CH,~OH —z 22— CH,=CH,+H,0
$H3 Cu CHs
(2) CH~C-OH —g— (; C=O+CH,
CH,
(3 CHy—CH-CH, —Rro— CHy—CH=CH,+H,0
OH

Cu
(4) CH,-CH,~OH —=— CH,CHO+H,

Options :

212807113501. 1
212807113502. 2
212807113503. 3
212807113504. 4

Question Number : 81 Question Id : 21280728376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

&TH 9 &M 91 ooy Terd § 2

(1) CH,—CH,—OH C;i% — CH,=CH,+H,0
(2) CHZ_(E_OH 573 CH3/C=O+CH4

¢,
85%
(3) CHS_(I:H_ CH, W CH; -CH=CH,-+H,0

OH

C
(4) CHy~CH,-OH —=— CH;CHO+H,

Options :

212807113501. 1
212807113502. 2
212807113503. 3
212807113504. 4

Question Number : 82 Question Id : 21280728377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Phenol is brominated in solvent CS, at low temperature. The product formed are :
(1) Monobromophenols

(2) Dibromophonols

(3) Tribromophenols

(4) Tribromobenzene

Options :

212807113505. 1
212807113506. 2
212807113507. 3
212807113508. 4

Question Number : 82 Question Id : 21280728377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

THIC %1 FH A9FT T FEA SEIchRES Iams § g #d ¢ 1 iy 3ok § -
(1) = s wHeE

(2) S S wEY

(3) 218 S wHeH

(4) 27 S SS

Options :

212807113505. 1
212807113506. 2
212807113507. 3
212807113508. 4

Question Number : 83 Question Id : 21280728378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following compound will not undergo Azo coupling reaction ?
(1) Aniline
(2) Phenol
(3) Anisole

(4) Nitrobenzene

Options :

212807113509. 1
212807113510. 2
212807113511. 3
212807113512. 4

Question Number : 83 Question Id : 21280728378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




T 9 S 91 A Tsi-aufan sfafsan T8 o ?
(1) ufe
(2) A
(3) EfAH
(4) TS
Options :
212807113509. 1
212807113510. 2

212807113511. 3
212807113512 4

Question Number : 84 Question Id : 21280728379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Predict the major product in the following reaction :

+ — —_
ON =NCI + @—01{—03—}?

Phenol
(1) p-Aminoazobeneze
(2) p-Hydroxyozobenzene
(3) Sulphanilic acid
(4) Phenol
Options :

212807113513. 1
212807113514.2
212807113515.3
212807113516. 4

Question Number : 84 Question Id : 21280728379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

i 31 T siffmansti 9 qe IR A ST HN W

+ - —
Ortoners O-oniss
AR

(1) O-ufHT O s
(2) UU-TEEERE TSI S
(3) HewHfAH 7
(4) A

Options :

212807113513. 1



212807113514.2
212807113515.3
212807113516. 4

Question Number : 85 Question Id : 21280728380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The correct increasing order of basic strength of amine is :

(A) CHs;NH, < NH,; < C,H;CH,NH, < C,H:NH, < (C,Hs),NH
(B) NH; < C;HsNH, < C;H-CH,NH, < C,H:NH, < (C,H;5),NH
(C) CHCH,NH, < CH;NH, < NH,; < C,H:NH, < (C,Hz),NH
(D) C,H;NH, < (G,H;),NH < C.H;NH, < NHy

Choose the correct answer from the options given below :

(1) (A) only

(2) (A) and (C) only

(3) (A) and (B) only
(4) (D)

Options :

212807113517 1

212807113518. 2

212807113519.3
212807113520. 4

D only

Question Number : 85 Question Id : 21280728380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

UHH @l AT Joetal ol 98d 9 H Tel ®9 @ :

(A) CHNH, < NH, < C.H.CH,NH, < C,H.NH, < (C,Hs),NH
(B) NH, < C,H.NH, < C;H.CH,NH, < C,H;NH, < (C,H;),NH
(C) CHsCH,NH, < C,H.NH, < NH, < C,H;NH, < (C,Hs),NH
(D) C,HNH, < (C,H),NH < C,H.NH, < NH,

Frafafea faswedl 9 O& S &1 999 Sifau ;
(1) (A) Faa

(2) (A) R (C) e

(3) (A) #R (B) Feet

(4) (D) FaA

Options :

212807113517. 1
212807113518.2
212807113519.3
212807113520. 4



Question Number : 86 Question Id : 21280728381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The presence or absence of hydroxyl group on which carbon atom of sugar differentiate RNA and
DNA :

(1) 2nd
(2) 4th
B B9
(4) -lst
Options :

212807113521. 1
212807113522. 2
212807113523.3
212807113524. 4

Question Number : 86 Question Id : 21280728381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

STehYIeh TR ShTsiA IEATY] TR B eiferael g9 shi Suftufd =1 srqufefd RNA 9&1 DNA i 3T a7 § ¢
(1) fedm

(2) =gd

(3) ™

(4) Fom

Options :

212807113521. 1
212807113522.2
212807113523.3
212807113524. 4

Question Number : 87 Question Id : 21280728382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Which of the foilowing are fat soluble vitamins :

(A) vit A
(B) vitB
(C) vitD
(D) vitE
(E) vitK

Choose the correct answer from the options given below :
(1) (A), (B), (D) and (E) only

(2) (A), (B), (C) and (D) only

(3)  (A), (O, (D) and (E) only

(4)  (B), (C), (D) and (E) only

Options :

212807113525. 1

212807113526. 2

212807113527.3
212807113528. 4

Question Number : 87 Question Id : 21280728382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

78 § A [ faerfas amn o gereie €
(A) faefma A
(B) faei@= B
(C) feaerfga D
(D) faafi= E
() feefga K

9 o3 1 fasreul € |9 S &1 999 SIS

(1) (A), (B),( ) ¥R (E) hered
(2 (A) (B) © aﬂuD)%w
(3) (A)()() (E) et
(4) (B), (C), (D) 3 (E) *ae
Options :

212807113525. 1
212807113526.2
212807113527.3
212807113528. 4

Question Number : 88 Question Id : 21280728383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following statements are correct ?

(A) Glucocorticoids control the carbohydrate metabolism
(B) Testosterone is major female sex hormone

(C) Insulin is released in response to increase in blood sugar
(D) Hypothyroidism is caused by low level of thyroxine

(E) Mineralocorticoid is major male sex hormone

Choose the correct answer from the options given below :

(1) (A), (B), (C) and (D) only

(2)  (A), (O), (D) and (E) only
(3) (A), (C)and (D) only
(4) (O), (D) and (E) only
Options :

212807113529. 1
212807113530. 2
212807113531.3
212807113532. 4

Question Number : 88 Question Id : 21280728383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TIH 9 i H HYF Tod &2
TehIhITohIzE Y HaiErRee SUT=d 1 =0

(B) SHRINEU Tk H&A HIG ERAM

(C) Tgfe o1 Taw, T ek gfg H STerEt

(D) AR 1 Sedl &L SRTIAERIA s &l R

(E) focsifisre te g@&1 ) seEH

Trfafad fasmedl & W@t 39 &1 9979 &+ :

(1) (A), (B), ('C)aﬁ?(D)%a

(2) (A), (©) (D) 3R (B) %o

(3) (A), (O 3R (D) et

(4) (O, (D) ¥R (E) %aa

Options :

212807113529. 1
212807113530. 2
212807113531. 3
212807113532. 4

Question Number : 89 Question Id : 21280728384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - T with List - IL.

List - I List - II
(A) Buna-S () Vinyl chloride
(B) Neoprene (II)  1,3-Butadiene and styrene
(C) PVC (III) Tetra flouroethene
(D) Teflon (IV) Chloroprene

Choose the correct answer from the options given below :
(1) (A1, B)-AV), (©)-), (D)-)
I

(2)  (A)-1), (B)-AV), (C)-(I), (D))
(3)  (A)-(1), (B)-(D), (O)-(IV), (D)~(IIT)
(4)  (A)-(1), (B)-(1), (O)-(I), (D)-(IV)
Options :

212807113533. 1
212807113534.2
212807113535.3
212807113536. 4

Question Number : 89 Question Id : 21280728384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
it - 1 1 il - 11§ et s
-1 -1I
(A) =T-T8 m fomEe wEe
(B) fasifim () 1,3-521 TE3A 9 REiA
(C) . &l =t (IT) 22T FAEef=
(D) <% (IV) FRIYHA
=i forg fasredl ¥ W@t ST #1997 +ifSg
(1)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(I)
(2)  (A)-(D), (B)-IV), (C)-(1), (D)-(IID)
(3)  (A)-(ID), (B)-(I), (O-(IV), (D)-(II)
(4)  (A)-(D), (B)-1), (O, (D)-IV)
Options :

212807113533. 1
212807113534. 2
212807113535. 3
212807113536. 4

Question Number : 90 Question Id : 21280728385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which statement is not true for a detergent molecule ?

(1) Itis not biodegradable

(2) It is a surface active agent

(3) It has a non polar organic part and a polar non organic part

(4) Itis sodium salt of fatty acid

Options :
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Question is based on following passage :

Methyl nitrile is hydrolysed to carboxylic acid in the presence of HT or OH ™ as catalyst. An
intermediate compound [A] is formed during this reaction.

3 - + =
Methyl nitrile HGOH | intermediate H/OH | Carboxylic Acid
H

,0 Compound A [B]
[Al
gt
Br,/NaOH =
Krrine 2 ! Alcohol
[C] CH,OH
Sweet smelling compound
[D]

The intermediate compound [A] is :
(1) Methyl isocyanide

(2) Ethyl amine

(3) Ethanamide

(4) Methanamide

Options :
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Question is based on following passage :

Methyl nitrile is hydrolysed to carboxylic acid in the presence of H™ or OH ™ as catalyst. An
intermediate compound [A] is formed during this reaction.

+ - + =
Methyl nitrile HCGOH | Intermediate H/OH Carboxylic Acid
H

50 Compound A [B]
[Al
ut
Br,/NaOH i
Keniine 2 ! Alcohol
[C] CH,OH
Sweet smelling compound
[D]

Converting [A] into [C] is called :

(1)  Ammonolysis

(2) Hoffmann Degradation Reaction
(3) Carbylamine reaction

(4) Gabriel phthalamide reaction

Options :
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Question is based on following passage :

Methyl nitrile is hydrolysed to carboxylic acid in the presence of HT or OH ™ as catalyst. An
intermediate compound [A] is formed during this reaction.

3 - + =
Methyl nitrile HGOH | intermediate H/OH | Carboxylic Acid
H

,0 Compound A [B]
[Al
gt
Br,/NaOH =
Krrine 2 ! Alcohol
[C] CH,OH
Sweet smelling compound
[D]

The sweet smelling compound [D] is :
(1) Acid anhydride

(2) Acyl halide

(3) Aldehyde

(4) Ester

Options :

212807113549. 1
212807113550. 2
212807113551.3
212807113552. 4
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Question is based on following passage :

Methyl nitrile is hydrolysed to carboxylic acid in the presence of H™ or OH ™ as catalyst. An
intermediate compound [A] is formed during this reaction.

2 = + =
Methyl nitrile HCGOH | Intermediate H/OH Carboxylic Acid
H

50 Compound A [B]
(Al
gt
+
. Br,/NaOH | Alcohol
(€] CH,OH
Sweet smelling compound
[D]

What is not true regarding compound [B] ?

(A) They are higher boiling liquids than aldehydes and ketones due to extensive H Bonding
(B) They are soluble in Benzene

(C) They produce alkane when heated with soda lime

(D) Produces CO, when treated with NaHCO,

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (A)and (C) only
(3) (B)only

(4) (A) only

Options :

212807113553, 1

212807113554. 2

212807113555.3
212807113556. 4
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Question is based on following passage :

Methyl nitrile is hydrolysed to carboxylic acid in the presence of H™ or OH ™ as catalyst. An
intermediate compound [A] is formed during this reaction.

2 - + =
Methyl nitrile HCGOH | Intermediate H/OH Carboxylic Acid
H

50 Compound A [B]
[A]
ut
Br,/NaOH i
Keniine 2 ! Alcohol
[C] CH,OH
Sweet smelling compound
[D]

Which of the following is the correct statement for hybridization of C-atom and number of o and
7 bonds in the Carbonyl group ?

(1) Sp% 30,1
(2) Sp.3m. 1w
(3) Sp3 30,17
(4) Sp320, 27

Options :

212807113557. 1
212807113558. 2
212807113559. 3
212807113560. 4

Question Number : 95 Question Id : 21280728390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp




fFrafefiaa Tt &t Uget UIH T ST T ¢
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+ - + =
& HCrOH ™ _sFmweafis H /OH ™ sEtfeafirs stet
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2
[A]
H =+
s Br,/NaOH | ? -t
] —l CH,OH
Hi3t geTg arern A
[D]

TTH 9 S W FUF FET & HEMRA 9 HROT 3R ¢ T ¢ 59 & oo § Terd § ?
(1) Sp3 30,1
(2) Sp,30,1m
(3) Sp3 30,1
(4) Sp320, 2w

Options :

212807113557. 1
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Question is based on following passage :

p-block elements are placed in groups 13 to 18 of the periodic table. Group 15 is nitrogen family.
Nitrogen makes various compounds like NH;, HNO,, N,O, NO, etc. Phosphorus exists in the
form of white and red phosphorus. White phosphorus glows in dark. PH, gas is used as smoke
screen. Group 16 is called oxygen family. Dry air contains 21% O, gas by volume. Combined
sulphur exists as sulphates such as gypsum, epsome salt, baryte etc. The allotropic forms of sulphur
are Rhombic and monoclinic sulphur. S, is paramagnetic like O, and it stable at high temperature.
Group 17 is Halogen family. F, is highly reactive, Cl, is greenish yellow gas. Both SO, and Cl, are
used for bleaching. Group 18 is Noble gas family but some noble gases also form compounds.
Complete hydrolysis of XeF, gives HF and XeO, as main products.

Match List - I with List - I1.

List - I List - II
(A) Ammonia (I)  Rotten fish small
(B) Nitric Acid (I) Detection of metal ions
(C) Phosphene (IIT) Chemiluminescence

(D) White Phosphorus (IV) Ostwald Process
Choose the correct answer from the options given below :
(1) (A)-(H) (B)-@V), (€)-(D), (D)-(I)

(2)  (A)-(IV), (B)ID), (C)-(I), (D)-(II)
(3) (A, ( )-(IV), (O)-(TI), (D)-(IT)
(4)  (A)-(D), (B)-(IT), (O)-(IV), (D)~(II)
Options :

212807113561. 1
212807113562. 2
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212807113564. 4
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(1) (A)-1D), (B)-IV), ©)-(1), (D)-(1)

(2)  (A)-(IV), (B)-(1D), (C)-(I), (D)-(II)
(3)  (A)-(), (B)}-(IV), (O)-(IT), (D)-(II)
4) (A1), (B)-(II), (O-IV), (D)-(I1)
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Question is based on following passage :

p-block elements are placed in groups 13 to 18 of the periodic table. Group 15 is nitrogen family.
Nitrogen makes various compounds like NH;, HNO,, N,O, NO, etc. Phosphorus exists in the
form of white and red phosphorus. White phosphorus glows in dark. PH; gas is used as smoke
screen. Group 16 is called oxygen family. Dry air contains 21% O, gas by volume. Combined
sulphur exists as sulphates such as gypsum, epsome salt, baryte etc. The allotropic forms of sulphur
are Rhombic and monoclinic sulphur. S, is paramagnetic like O, and it stable at high temperature.
Group 17 is Halogen family. F, is highly reactive, Cl, is greenish yellow gas. Both SO, and Cl, are
used for bleaching. Group 18 is Noble gas family but some noble gases also form compounds.
Complete hydrolysis of XeF, gives HF and XeO, as main products.

Sulphate of magnesium of the following is :

(1) Gypsum

(2) Epsom salt

(3) Baryte

(4) Galena
Options :
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Question is based on following passage :

p-block elements are placed in groups 13 to 18 of the periodic table. Group 15 is nitrogen family.
Nitrogen makes various compounds like NH3, HNO3, N,O, NO, etc. Phosphorus exists in the
form of white and red phosphorus. White phosphorus glows in dark. PH, gas is used as smoke
screen. Group 16 is called oxygen family. Dry air contains 21% O, gas by volume. Combined
sulphur exists as sulphates such as gypsum, epsome salt, baryte etc. The allotropic forms of sulphur
are Rhombic and monoclinic sulphur. S, is paramagnetic like O, and it stable at high temperature.
Group 17 is Halogen family. F, is highly reactive, Cl, is greenish yellow gas. Both SO, and Cl, are
used for bleaching. Group 18 is Noble gas family but some noble gases also form compounds.
Complete hydrolysis of XeF, gives HF and XeO, as main products.

At elevated temperature (~ 1000 K) the dominant form of sulphur is :
(1) Rhombic Sulphur

(2) Monoclinic Sulphur

(3) Sg molecules

4 5

Options :

212807113569. 1
212807113570. 2
212807113571. 3
212807113572. 4

Question Number : 98 Question Id : 21280728393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2




FrAfafiEa =T ot gy U9 SRl ST G ¢

st i Tad AR H 13 B 18 o H T ¥ 1 A 15 Ao RaR ® 1 RS sgd | ATk s
€S9 NH,, HNO,, N,O, NO, 31fg | WERRE v a9 A1d BIEhRE & &9 § U&7 S0 § 1 The FopRg
S H wHeRar ¥ 1 PH, T o1 3790 @iieh hiA & &9 § o S 81 ol 16 sifadisr ofem @1 gk a1y
H21% O, 19 TP €9 § §1 HYa 1w | g Fothe o ®9 H feum € S oo, twm aau, sie
aIfe | Tiereh ol <1 Hrerrel stereed Aftares qer HiAl ot e €1 S, O, ate Wi graehid 8 3 3=
ATIsRH TR TR § 1 o 17 SeieH IRar 8| F, sifafsamedia 8, Cl, & Wt T et 319 8 1 SO, 9901 Cl, 3H1 &1
forsrr & &9 H 3T fofan ST €1 avi-18 g i w1 uRar § o 9 & Aiga 19 diftes 59 €1
XeF, guf 77829 § HF G2 XeO, T&A 3K 791 © |

I AUHH (~ 1000 K) T HSHL hi THIE! ST ¢ :

(1) Aftas gow
(2) = featres Tewm
(3) Sg 3
(4) S
Options :
212807113569. 1

212807113570. 2
212807113571.3
212807113572. 4

Question Number : 99 Question Id : 21280728394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Question is based on following passage :

p-block elements are placed in groups 13 to 18 of the periodic table. Group 15 is nitrogen family.
Nitrogen makes various compounds like NH;, HNO,;, N,O, NO, etc. Phosphorus exists in the
form of white and red phosphorus. White phosphorus glows in dark. PH, gas is used as smoke
screen. Group 16 is called oxygen family. Dry air contains 21% O, gas by volume. Combined
sulphur exists as sulphates such as gypsum, epsome salt, baryte etc. The allotropic forms of sulphur
are Rhombic and monoclinic sulphur. S, is paramagnetic like O, and it stable at high temperature.
Group 17 is Halogen family. F, is highly reactive, Cl, is greenish yellow gas. Both SO, and Cl, are
used for bleaching. Group 18 is Noble gas family but some noble gases also form compounds.
Complete hydrolysis of XeF, gives HF and XeO, as main products.

The permanent bleaching effect is caused by :
(1) Chlorine gas
(2) SO, gas
(3) Aqua Regia
(4) COCl,
Options :
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Question is based on following passage :

p-block elements are placed in groups 13 to 18 of the periodic table. Group 15 is nitrogen family.
Nitrogen makes various compounds like NH;, HNO,, N,O, NO, etc. Phosphorus exists in the
form of white and red phosphorus. White phosphorus glows in dark. PH; gas is used as smoke
screen. Group 16 is called oxygen family. Dry air contains 21% O, gas by volume. Combined
sulphur exists as sulphates such as gypsum, epsome salt, baryte etc. The allotropic forms of sulphur
are Rhombic and monoclinic sulphur. S, is paramagnetic like O, and it stable at high temperature.
Group 17 is Halogen family. F, is highly reactive, Cl, is greenish yellow gas. Both SO, and Cl, are
used for bleaching. Group 18 is Noble gas family but some noble gases also form compounds.
Complete hydrolysis of XeF, gives HF and XeO, as main products.

The product of complete hydrolysis of XeF in the following reaction is
XeF, + H,O—? + HF

(1) XeOF,
(2) XeO,F,
(3) XeO,
(4) Xe
Options :
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